








A certain number of persons are sitting in the row. All of them are facing towards 

north. I sits seventh from the left of V. C sits to the left of A. Only three persons 

sit between G and A. L sits fourth to the right of K. I sits one of the place between 

E and K. A sits fourth to the left of I. K is seventh from the right end of the row. 

Nine persons sit between G and K. C sits end of the row. A is eight from the left 

end. G and I is not neighbor. 

एक निनित संख्या में व्यनि पंनि में बैठे हैं। ये सभी उत्तर की ओर म ंह नकए हुए हैं। I, V के बाए ंसे

सातवें स्थाि पर बैठा ह ं। C,A के बाई ंओर है। केवल तीि व्यनि G और Aके बीच में बैठे हैं। L, K 

के दाई ंओर चौथा बैठता है। I, E और K के बीच में कहीं एक स्थाि पर एक बैठता है। A,I के बाई ं

ओर चौथे है। पंनि के दाए ंछोर से K सातवााँ है। िौ व्यनि G और K के बीच में बैठते हैं। C पंक्ति के

अंत में बैठा ह।ै पंनि के बाए ंछोर से A आठवााँ है। Gऔर I पडोसी िहीं हैं।



A certain number of persons are sitting in the row. All of them are facing towards 

north. I sits seventh from the left of V. C sits to the left of A. Only three persons sit 

between G and A. L sits fourth to the right of K. I sits one of the place between E 

and K. A sits fourth to the left of I. K is seventh from the right end of the row. Nine 

persons sit between G and K. C sits end of the row . A is eight from the left end. G 

and I is not neighbor.



Study the following series of alpha/numeric/ symbol combination and answer the 

questions that follow.

Z A 3 4 V O @ D # 4 9 P N # 8 E $ 5 * C F A B 7 H % 9 Y 6 £ Q 2 R Q 

Four of the following five are alike in a certain way on the basis of their positions 

in the above arrangement and so form a group. Which is the one that does not 

belong to that group? 

उपरोि व्यवस्था में अपिे पदों के आधार पर निम्िनलनित पांच में से चार एक निनित तरीके से एक

जैसे हैं और इसनलए एक समूह बिाते हैं। वह कौि सा है जो उस समूह से संबंनधत िहीं है?

(1) #9P (2) CAB (3) %6£ (4) P#8 (5) E 5 *



Study the following series of alpha/numeric/ symbol combination and answer the 

questions that follow.

Z A 3 4 V O @ D # 4 9 P N # 8 E $ 5 * C F A B 7 H % 9 Y 6 £ Q 2 R Q 

Which of the following is seventh to the right of fifteenth from the 

right end?

निम्िनलनित में से कौि दानहिे छोर से पंद्रहवें के सातवें स्थाि पर है?

(1) D (2) 9 (3) % (4) * (5) None of these 



Study the following series of alpha/numeric/ symbol combination and answer the questions that 

follow.

Z A 3 4 V O @ D # 4 9 P N # 8 E $ 5 * E F A B 7 H % 9 Y 6 £ Q 2 R Q 

How many such symbols are there in the above arrangement, each of 

which is immediately followed by a consonant and also immediately 

preceded by a number? 

उपरोि व्यवस्था में ऐसे नकतिे प्रतीक हैं, नजिमें से प्रत्येक के त रंत बाद एक व्यंजि होता 

है और त रंत पहले एक सखं्या भी होता है?

(1) None    (2) One (3) Two (4) Three (5) More than three 



Study the following series of alpha/numeric/ symbol combination and answer the questions that 

follow.

Z A 3 4 V O @ D # 4 9 P N # 8 E $ 5 * C F A B 7 H % 9 Y 6 £ Q 2 R Q 

If all the symbols are dropped from the above arrangement which of the following 

will be tenth from the left end?

यनद सभी प्रतीकों को उपरोि व्यवस्था से हटा नदया जाता है तो निम्िनलनित में से कौि बाए ंछोर से 

दसवां होगा?

(1) # (2) C (3) % (4) P (5) None of these 



Study the following series of alpha/numeric/ symbol combination and answer the questions that 

follow.

Z A 3 4 V O @ D # 4 9 P N # 8 E $ 5 * C F A B 7 H % 9 Y 6 £ Q 2 R Q

How many numbers are there in the above arrangement each of which is 

immediately preceded by symbol and followed by a letter of English 

alphabet? 

उपरोि व्यवस्था में नकतिी सखं्याएाँ हैं नजिमें से प्रत्येक के त रंत पहले प्रतीक और त रंत

बाद अंगे्रजी वर्णमाला के एक अक्षर होता है ? 

(1) None (2) One (3) Two (4) Three (5) Other than these options



How many pairs of letters are there in the word 

“REFERENCES”, each of which has as many letters between 

them in the word (in both forward and backward direction) as 

they have between them in the English alphabet?

शब्द “REFERENCES" में नकतिे जोडे हैं, नजिमें से प्रत्येक में शब्द 

(आगे और पीछे दोिों नदशाओ ंमें) के बीच के नजतिे अक्षर हैं, उिके बीच 

अंगे्रजी वर्णमाला में हैं?

(1) None (2) Two (3) One (4) Four (5) Three



Statements : C < L ≥ K < H ≤ F < S > X 

Conclusions: I. K < S

II. F> X 

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements : Z > G < J ≥ V = X < C ≥ A 

Conclusions: I. C > A

II. C = A 

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements : K ≥ L ≥ H < D = C < S < R > J 

Conclusions :I. D < R

II. K > H 

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements : A ≤ K < T ≥ L < U ≥ J >Y 

Conclusions : I. U ≥ T 

II. U < T 

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



In a certain code language, SQUARE is coded as WSUCPY then how will 

CIRCLE be coded is the same code language? 

एक निनित कोड भाषा में, SQUARE को WSUCPY के रूप में कोनडत नकया गया है, 

निर CIRCLE को कैसे कोनडत नकया जाएगा समाि कोड भाषा है?

(1) TKEJCA 

(2) TEKJCA

(3) TKECJA

(4) TKECAJ

(5) None of the above



In a certain code CARD is written as 02 . TEA is written as 21, 

How is PARENTS written in that code ?

एक निनित कोड में CARD को 02 के रूप में नलिा जाता है। TEA को 21 के 

रूप में नलिा जाता है, उस कोड में PARENTS को कैसे नलिा जाता है?

(A) 32

(B) 56 

(C) 76 

(D) 121

(E) 65



In a certain code WIN is written as 18. SIP is written as 12, How 

is CAR written in that code ?

एक निनित कोड में WIN को 18 नलिा जाता है। SIP को 12 के रूप में नलिा 

जाता है, उस कोड में CAR को कैसे नलिा जाता है?

(A) 5

(B) 10 

(C) 14

(D) 20

(E) 12



“focus on economic development” is written as “vl no py su”

“greater growth more development” is written as “wr ea vl om”

“more focus is important” is written as “su ta nx ea”

“economic growth is important” is written as “ta py om nx”

What is the code for 'greater'? / 'greater' के क्तिए कूट क्या ह?ै

1.Ea

2.vl

3.om

4.no

5. wr



Statements: 

All Drink are Water. / सभी पेय जल हैं। 

Only a few Water are Hot./ केवल क छ ही जल गमण हैं। 

No Hot is a Cold. / कोई गमण ठंड िहीं है। 

All Cold are Ice./ सभी ठंड बिण  है। 

Conclusions: 

(I) All Drink being Hot is a possibility. / सभी पेय गमण है एक संभाविा है |

(II) Some Water are not Hot. / क छ पािी गमण िहीं हैं। 

(III) All Water being Hot is a possibility./ सभी पािी गमण होिे की संभाविा है।

(1) Only I follows   (2) Both I and II follow.     (3) Only III follows 

(4) Only II follows.   (5) None of these



Statements: 

Some G are R./ क छ G, R हैं। 

Only a few R are P. / केवल क छ R, P हैं। 

All R are B./ सभी R, B हैं। 

Conclusions: 

I. Some G are definitely not R. / क छ G निनित रूप से R िहीं हैं। 

II. Some B are definitely R. / क छ B निनित रूप से R हैं। 

(1) If only conclusion I follows. 

(2) If only conclusion II follows.

(3) If either conclusion I or II follows. 

(4) If neither conclusion I nor II follows.

(5) If both conclusions I and II follow



Statements: 

All A are B./ सभी A, B हैं। 

All B are C. / सभी B हैं C 

Some C are D. / क छ C हैं D 

Conclusions: 

I. Only few A are not D is a possibility. / केवल क छ A ही D िहीं हैं एक संभाविा है।

II. Some C are A is a possibility ./ क छ C ,A हैं सभंाविा है 

(1) If only conclusion I follows. 

(2) If only conclusion II follows.

(3) If either conclusion I or II follows. 

(4) If neither conclusion I nor II follows.

(5) If both conclusions I and II follow



Statements : 

Some squares are circles. क छ वगण सकण ल हैं।

No circles is a triangle. कोई सकण ल निकोर् िहीं है।

No line is a squares. कोई रेिा वगण िहीं है।

Conclusions : 

I. No triangle is a squares. कोई निभ ज वगण िहीं है। 

II. No line is a circles. . कोई रेिा सकण ल िहीं है।

III. All squares can never be triangle. सभी वगण कभी निकोर् िहीं हो सकते हैं।

IV. Some line are circles. क छ रेिा सकण ल हैं।

(1) Only I follows

(2) Only II follows

(3) Only I and III follow

(4) Only III and either II or IV follow

(5) None of these



Q.1-2. Study the given information carefully and answer the 

following questions. Point Q is 16m north of point W. Point A is 

10m west of point K. Point S is 5m west of point W. Point K is 9 m 

north of Point P. Point S is 25m south of point A..

दी गई जािकारी का ध्यािपूवणक अध्ययि करें और निम्िनलनित प्रश्नों के उत्तर 

दें। नबंद  Q, नबंद  W के उत्तर में 16 मीटर की दूरी पर है। नबंद  A, नबंद  K के 10 

मीटर पनिम में नस्थत है। नबंद  S, नबंद  W से 5 मीटर पनिम में है। नबंद  K, नबंद  P 

के 9 मीटर उत्तर में नस्थत है। नबंद  S, नबंद  A के 25 मीटर दनक्षर् में है।



Q.1-2. Study the given 

information carefully 

and answer the following 

questions. Point Q is 16m 

north of point W. Point 

A is 10m west of point K. 

Point S is 5m west of 

point W. Point K is 9 m 

north of Point P. Point S 

is 25m south of point A..



There are six poles i.e. J, K, L, M, N and O of different lengths. Pole 

O is longer than pole M. Pole K is longer than pole O. Pole K is 

shorter than only pole N. Pole J is longer than pole O. Pole M is not 

the shortest pole. The length of 2nd longest pole is 62cm and 3rd 

shortest pole is 35cm.

अलग-अलग लंबाई के छह ध्र व यािी J, K, L, M, N and O हैं। ध्र व O ध्र व की 

त लिा में अनधक लंबा है। ध्र व K ध्र व O की त लिा में लंबा है। ध्र व K केवल ध्र व N 

से छोटा है। ध्र व J ध्र व O की त लिा में अनधक लंबा है। ध्र व M सबसे छोटा ध्र व 

िहीं है। दूसरे सबसे लंबे पोल की लंबाई 62 सेमी और तीसरी सबसे छोटी पोल की 

लंबाई 35 सेमी है।



There are six poles i.e. J, K, L, M, N and O of different lengths. Pole 

O is longer than pole M. Pole K is longer than pole O. Pole K is 

shorter than only pole N. Pole J is longer than pole O. Pole M is not 

the shortest pole. The length of 2nd longest pole is 62cm and 3rd 

shortest pole is 35cm.



Q.1 Which of the following is 2nd shortest pole? 

निम्िनलनित में से कौि सा दूसरा सबसे छोटा ध्र व है?

(1) K (2) O (3) L (4) Can’t be determined (5) None of these

Q.2. What may be the possible length of J?

J की संभानवत लंबाई क्या हो सकती है?

(1) 65cm (2) 58cm (3) 30cm (4) 34cm (5) 63cm



7 People A, B, C, D, E, F and G are sitting around a circular table. In 

which 3 people are facing outside and 4 of them facing inside the 

circle. Only three people sits between A and G who is facing outside. 

D sits immediate left of G and B. The neighbour of E facing same 

direction. F is not an immediate neighbour of E but both are facing 

same direction. G sits third to the left of E. D is not facing outside. 

7 लोग A, B, C, D, E, F और G एक गोलाकार टेबल के चारों ओर बैठे हैं। नजसमें 

3 लोग बाहर का सामिा कर रहे हैं और उिमें से 4 घेरे के अंदर का सामिा कर रहे हैं। 

A और G के बीच केवल तीि लोग बैठते हैं जो बाहर का सामिा कर रहा हैं। D, G 

और B के तत्काल बाए ंबैठा है। E के पडोसी समाि नदशा का सामिा कर रहा है। F, 

E का तत्काल पडोसी िहीं है लेनकि दोिों एक ही नदशा का सामिा कर रहे हैं। G, E 

के बाए ंसे तीसरे स्थाि पर है। D बाहर का सामिा िहीं कर रहा हैं। 



7 People A, B, C, D, E, F and G are 

sitting around a circular table. In 

which 3 people are facing outside 

and 4 of them facing inside the 

circle. Only three people sits between 

A and G who is facing outside. D sits 

immediate left of G and B. The 

neighbour of E facing same 

direction. F is not an immediate 

neighbour of E but both are facing 

same direction. G sits third to the 

left of E. D is not facing outside. 



Nine persons A, Q, B, S, C, U, V, D and X. They live on a separate floor each of a nine 

floor building but not necessarily in the same order. The ground floor is numbered 1, the 

first floor is numbered 2 and so on until the topmost floor is numbered nine. D lives on 

an odd-numbered floor below floor number 5. There are two persons living between D 

and X. S lives on one of the odd numbered floors but not on floor number 7. There are 

two people sitting between V and B. U lives on floor number 6. Q lives on the top-most 

floor. V lives on an even numbered floor. B lives below V. C lives just above D’s floor .

िौ व्यनि A, Q, B, S, C, U, V, D and X. । वे एक अलग मंनजल पर एक िौ मंनजल की इमारत में रहते हैं 

लेनकि जरूरी िहीं नक एक ही क्रम में हों। भूतल की संख्या 1 है, पहली मंनजल की संख्या 2 है और इसी 

तरह जब तक सबसे ऊपरी मंनजल की संख्या िौ िहीं है। D, तल संख्या 5 से िीचे एक नवषम संख्या वाले 

तल पर रहता है। D और X के बीच दो व्यनि रहते हैं। S नवषम संख्या वाली मंनजलों में से एक पर रहता है, 

लेनकि मंनजल संख्या 7 पर िहीं। V और B के बीच में दो व्यनि रहते हैं। U मंनजल िंबर 6 पर रहता है। Q 

सबसे ऊपरी मंनजल पर रहता है। V एक सम संख्या वाली मंनजल पर रहता है। B, V से िीचे रहता है। C, D 

के तल से ठीक ऊपर रहता है।



Nine persons A, Q, B, S, C, U, V, D and X. They live on a 

separate floor each of a nine floor building but not 

necessarily in the same order. The ground floor is numbered 

1, the first floor is numbered 2 and so on until the topmost 

floor is numbered nine. D lives on an odd-

numbered floor below floor number 

5. There are two persons living 

between D and X. S lives on one of the 

odd numbered floors but not on floor 

number 7. There are two people 

sitting between V and B. U lives on 

floor number 6. Q lives on the top-

most floor. V lives on an even 

numbered floor. B lives below V. C 

lives just above D’s floor .



A certain number of persons are sitting in the row. All of them are facing towards 

north. I sits seventh from the left of V. C sits to the left of A. Only three persons 

sit between G and A. L sits fourth to the right of K. I sits one of the place between 

E and K. A sits fourth to the left of I. K is seventh from the right end of the row. 

Nine persons sit between G and K. There are nine places between C and E. A is 

eight from the left end. G and I is not neighbor. 

एक निनित संख्या में व्यनि पंनि में बैठे हैं। ये सभी उत्तर की ओर म ंह नकए हुए हैं। I, V के बाए ंसे

सातवें स्थाि पर बैठा ह ं। C,A के बाई ंओर है। केवल तीि व्यनि G और Aके बीच में बैठे हैं। L, K 

के दाई ंओर चौथा बैठता है। I, E और K के बीच में कहीं एक स्थाि पर एक बैठता है। A,I के बाई ं

ओर चौथे है। पंनि के दाए ंछोर से K सातवााँ है। िौ व्यनि G और K के बीच में बैठते हैं। िौ व्यनि

C और E के बीच में बैठते हैं । पंनि के बाए ंछोर से A आठवााँ है। Gऔर I पडोसी िहीं हैं।



A certain number of persons are sitting in the row. All of them are facing towards 

north. I sits seventh from the left of V. C sits to the left of A. Only three persons sit 

between G and A. L sits fourth to the right of K. I sits one of the place between E 

and K. A sits fourth to the left of I. K is seventh from the right end of the row. Nine 

persons sit between G and K. There are nine places between C and E. A is eight 

from the left end. G and I is not neighbor.



Seven persons from P to V 

come in a meeting room. V 

came just before Q. Only three 

persons came between R and S. 

S came immediately after P. No 

one came between P and Q such 

that Q came before P. Only one 

person came between R and T.

P स ेV तक सात व्यक्ति एक बैठक 

कक्ष में आते हैं। V, Q के ठीक 

पहिे आया। R और S के बीच 

केवि तीन व्यक्ति आए। S, P के 

ठीक बाद आया। कोई भी P और 

Q के बीच ऐसा नहीं आया क्तक Q, 

P स ेपहि ेआए। केवि एक व्यक्ति 

R और T के बीच में आया।



Seven persons from P to V 

come in a meeting room. V 

came just before Q. Only three 

persons came between R and S. 

S came immediately after P. No 

one came between P and Q such 

that Q came before P. Only one 

person came between R and T.



10  people A, B, C, D, E, P, Q, R, S, and T sit 

on two linear benches such that five people 

face south and other five face north and they 

face each other too but not necessarily in same 

order given above.

D sits in the middle of one of the row. B sits 

opposite to the one who sits in the middle of A 

and C. Two people sit between A and P. B is 

to the immediate left of D. E, who faces S, sits 

at farthest possible distance on the bench from 

R. A faces south and sits end of the row . P 

and T face each other.

10 व्यक्ति A, B, C, D, E, P, Q, R, S, और T दो

रैक्तिक बेंचों पर इस प्रकार बैठते हैं क्तक पांच व्यक्ति

दक्तक्षण की ओर उन्मिु हैं और अन्य पांच उत्तर की 

ओर उन्मिु हैं और वे भी एक-दसूरे की ओर उन्मिु हैं

िेक्तकन जरूरी नहीं क्तक इसी क्रम में हों ऊपर क्तदया गया

ह।ै D क्तकसी एक पंक्ति के मध्य में बैठा ह।ै B, A और 

C के मध्य में बैठे व्यक्ति के क्तवपरीत बैठा ह।ै A और 

P के बीच दो व्यक्ति बैठे हैं। B, D के ठीक बायीं ओर 

ह।ै E, जो S की ओर उन्मिु ह,ै R से बेंच पर 

यथासंभव दरू बैठता ह।ै A का मिु दक्तक्षण की ओर है

और पंक्ति के अंत में बैठता है । P और T एक दसूरे के 

सामने हैं।



10  people A, B, C, D, E, P, Q, R, S, and T sit 

on two linear benches such that five people 

face south and other five face north and they 

face each other too but not necessarily in same 

order given above.

D sits in the middle of one of the row. B sits 

opposite to the one who sits in the middle of A 

and C. Two people sit between A and P. B is 

to the immediate left of D. E, who faces S, sits 

at farthest possible distance on the bench from 

R. A faces south and sits end of the row . P 

and T face each other.



10 Ministers from P to Y took oath on 3rd and 

12th of five months viz. April, May, June, July 

and August.

Q took oath on the odd numbered date of the 

month which has 31 days. Q and T took oath on 

consecutive turns but not in same month. R took 

oath before P but not just before. Only two 

persons took oath after P. V took oath in the 

month which has only 30 days but not in the 

month of April. Only one person took oath 

between V and W. X took oath just before Y, who 

took oath on an even numbered date of the month 

which has only 31 days. R did not take oath in the 

month which has only 30 days. Only two persons 

took oath between S and Q. V took oath before 

W. T took oath before Q.

P से Y तक के 10 मंक्तियों ने पांच महीने की तीसरी और 12 

तारीि को शपथ िी। अपै्रि, मई, जनू, जिुाई और अगस्त। 

Q ने उस महीने की क्तवषम संख्या वािी तारीि को शपथ िी, 

क्तजसमें 31 क्तदन होते हैं। 

Q और T ने िगातार बारी-बारी से शपथ िी िेक्तकन एक ही 

महीने में नहीं। R ने P से पहिे शपथ िी िेक्तकन ठीक पहिे 

नहीं। P के बाद केवि दो व्यक्तियों ने शपथ िी. V उस महीने 

में शपथ िेता हैं , क्तजसमें केवि 30 क्तदन हैं िेक्तकन अपै्रि के

महीने में नहीं। V और W के बीच केवि एक व्यक्ति ने शपथ 

िी। X ने Y के ठीक पहिे शपथ िी, क्तजसने उस महीने की 

एक सम संख्या वािी तारीि पर शपथ िी, क्तजसमें केवि 31 

क्तदन हैं। R ने उस महीने में शपथ नहीं िी क्तजसमें केवि 30 

क्तदन होते हैं। S और Q के बीच केवि दो व्यक्तियों ने शपथ 

िी। V ने W से पहिे शपथ िी। T ने Q से पहिे शपथ िी।



10 Ministers from P to Y took oath on 3rd and 

12th of five months viz. April, May, June, July 

and August.

Q took oath on the odd numbered date of the 

month which has 31 days. Q and T took oath on 

consecutive turns but not in same month. R took 

oath before P but not just before. Only two 

persons took oath after P. V took oath in the 

month which has only 30 days but not in the 

month of April. Only one person took oath 

between V and W. X took oath just before Y, who 

took oath on an even numbered date of the month 

which has only 31 days. R did not take oath in the 

month which has only 30 days. Only two persons 

took oath between S and Q. V took oath before 

W. T took oath before Q.



Seven persons A, B, C, D, E, F and G are sitting in row and all are facing 

towards north but not necessarily in the same order. B sits second from one of 

the extreme ends. Three persons sit between D and B. Two persons sit between 

D and A. C sits to the immediate left of A. F sits to left of C but is not an 

immediate neighbour of C. More than two persons sit between F and E.

सात व्यक्ति A, B, C, D, E, F और G पंक्ति में बैठे हैं और सभी का मिु उत्तर की ओर ह ैिेक्तकन 

आवश्यक नहीं इसी क्रम में हो। B क्तकसी एक अंक्ततम छोर से दसूरे स्थान पर बैठा ह।ै D और B के 

बीच तीन व्यक्ति बैठे हैं। D और A के बीच दो व्यक्ति बैठे हैं। C, A के ठीक बाई ंओर बैठता ह।ै F, 

C के बाई ंओर बैठता ह,ै िेक्तकन C का क्तनकटतम पडोसी नहीं ह।ै F और E के बीच दो से अक्तिक 

व्यक्ति बैठते हैं।



Seven persons A, B, C, D, E, F and G are sitting in row and all are facing 

towards north but not necessarily in the same order. B sits second from one of 

the extreme ends. Three persons sit between D and B. Two persons sit between 

D and A. C sits to the immediate left of A. F sits to left of C but is not an 

immediate neighbour of C. More than two persons sit between F and E.



Eight persons P, Q, R, S, T, U, V and W are sitting around a square table with 

four of them sitting at the corner and rest sitting at the middle of the sides of 

table. All of them are facing towards the centre of the table. One person sits 

between P and V. Two persons sit between V and S. P sits at the corner of the 

table. U sits to the immediate left of T. R sits second to the right of T. Q sits 

to the immediate right of R. W does not sit to the immediate left of P.

आठ व्यक्ति P, Q, R, S, T, U, V और W एक वगााकार मेज के चारों ओर बैठे हैं, क्तजनमें से 

चार कोने पर बैठे हैं और शेष मेज की भजुाओ ंके मध्य में बैठे हैं। उन सभी का मिु मेज के कें द्र की 

ओर ह।ै P और V के बीच एक व्यक्ति बैठा ह।ै V और S के बीच दो व्यक्ति बैठे हैं। P मेज के कोने

पर बैठा ह।ै U, T के ठीक बायें बैठा ह।ै R, T के दायें से दसूरे स्थान पर बैठा ह।ै Q, R के ठीक 

दायें बैठा ह।ै W, P के ठीक बायें नहीं बैठा ह।ै



Eight persons P, Q, R, S, T, U, V and W are sitting around a square table with 

four of them sitting at the corner and rest sitting at the middle of the sides of 

table. All of them are facing towards the centre of the table.One person sits 

between P and V. Two persons sitbetween V and S. P sits at the corner of the 

table. U sits to the immediate left of T. R sits second to the right of T. Q sits 

to the immediate right of R. W does not sit to the immediate left of P.



There are twelve persons sitting in two parallel rows. Six persons A, B, C, D, E and F 
are facing north and other six P, Q, R, S, T, and U are facing south. Each person from 
one row faces exactly one person from the other row but not necessarily in the same 
order. A and R sits diagonally opposite to each other. There are two persons sitting 
between R and Q. One of the immediate neighbors of Q faces C, who does not sit near 
A. P faces B and P is not an immediate neighbor of Q. There are two persons sitting 
between B and D. T sits second to the right of U. E does not sit at any of the extreme 
ends. S and T is not an immediate neighbor of each other. A sits at one of the extreme 
ends.

दो समानांतर पंक्तियों में बारह व्यक्ति बैठे हैं। छह व्यक्ति A, B, C, D, E और F उत्तर की ओर उन्मिु हैं और 
अन्य छह P, Q, R, S, T और U दक्तक्षण की ओर उन्मिु हैं। एक पंक्ति के प्रत्येक व्यक्ति का मिु दसूरी पंक्ति
के ठीक एक व्यक्ति की ओर ह ैिेक्तकन आवश्यक नहीं इसी क्रम में हो । A और R एक दसूरे के क्ततरछे क्तवपरीत 
बैठे हैं। R और Q के बीच दो व्यक्ति बैठे हैं। Q के क्तनकटतम पडोक्तसयों में स ेएक C की ओर उन्मिु ह,ै जो A 
के क्तनकट नहीं बैठता ह।ै P का मिु B की ओर ह ैऔर P, Q का क्तनकटतम पडोसी नहीं ह।ै B और D के बीच 
दो व्यक्ति बैठे हैं। T, U के दायें स ेदसूरे स्थान पर बैठा ह।ै E क्तकसी भी अकं्ततम छोर पर नहीं बैठा ह।ै S और T 
एक दसूरे के क्तनकटतम पडोसी नहीं ह.ै A क्तकसी एक अकं्ततम छोर पर बैठा ह।ै



There are twelve persons sitting in two parallel rows. Six persons A, B, C, D, E 
and F are facing north and other six P, Q, R, S, T, and U are facing south. Each 
person from one row faces exactly one person from the other row but not 
necessarily in the same order. A and R sits diagonally opposite to each other. 
There are two persons sitting between R and Q. One of the immediate 
neighbors of Q faces C, who does not sit near A. P faces B and P is not an 
immediate neighbor of Q. There are two persons sitting between B and D. T 
sits second to the right of U. E does not sit at any of the extreme ends. S and T 
is not an immediate neighbor of each other. A sits at one of the extreme ends.



Seven persons - I, J, K, L, M, N, and O have their 

birthdays in different months - January, March, April, 

June, July, September, and December, but not 

necessarily in the same order.

I’s birthday falls in month having 31 days. J’s birthday 

month is after I’s birthday month. N’s birthday falls in 

month having 31 days. J’s birthday month comes after 

N’s birthday month. L has birthday in a month having 

30 days. K has birthday in a month having 31 days but 

not in July and March. M’s birthday fall in a month 

having 30 days but before September. O’s birthday 

month is not after J’s birthday month. J’s Birthday is 

not in December. M birthday falls before O but not in 

the month of June. Only three persons have birthday 

between N and L.

सात व्यक्तियों - I, J, K, L, M, N, और O के जन्मक्तदन 

अिग-अिग महीनों - जनवरी, माचा, अप्रैि, जनू, जिुाई, 

क्तसतंबर और क्तदसंबर में हैं, िेक्तकन जरूरी नहीं क्तक इसी क्रम

में हों। मेरा जन्मक्तदन 31 क्तदनों वािे महीने में पडता ह।ै J का 

जन्मक्तदन महीना I के जन्मक्तदन के महीने के बाद ह।ै N का 

जन्मक्तदन 31 क्तदनों वािे महीने में आता ह।ै J का जन्मक्तदन 

महीना N के जन्मक्तदन के महीने के बाद आता ह।ै L का 

जन्मक्तदन 30 क्तदनों वािे महीने में ह।ै K का जन्मक्तदन 31 

क्तदनों वािे महीने में ह ैिेक्तकन जिुाई और माचा में नहीं ह।ै 

M का जन्मक्तदन 30 क्तदनों वािे िेक्तकन क्तसतंबर से पहिे 

वािे महीने में आता ह।ै O का जन्मक्तदन महीना J के 

जन्मक्तदन के महीने के बाद नहीं ह।ै J का जन्मक्तदन क्तदसंबर में

नहीं ह।ै M का जन्मक्तदन O से पहिे आता ह ैिेक्तकन जनू के 

महीने में नहीं। N और L के बीच केवि तीन व्यक्तियों का

जन्मक्तदन ह।ै



Seven persons - I, J, K, L, M, N, and O have their 

birthdays in different months - January, March, April, 

June, July, September, and December, but not 

necessarily in the same order.

I’s birthday falls in month having 31 days. J’s birthday 

month is after I’s birthday month. N’s birthday falls in 

month having 31 days. J’s birthday month comes after 

N’s birthday month. L has birthday in a month having 

30 days. K has birthday in a month having 31 days but 

not in July and March. M’s birthday fall in a month 

having 30 days but before September. O’s birthday 

month is not after J’s birthday month. J’s Birthday is 

not in December. M birthday falls before O but not in 

the month of June. Only three persons have birthday 

between N and L.


